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A 20-foot ladder is placed against a vertical wall of a building, with the bottom of the ladder
standing on level ground 16 feet from the base of the building. How high up the wall does the
ladder reach?

The ladder reaches |:| feet up the wall.
(Simplify your answer. Type an integer or a fraction.)

Use the given conditions to write an equation for the line in point-slope form and slope-intercept
form.
Slope = — 9, passing through (—3,—5)

Type the point-slope form of the line.

[]

(Simplify your answer. Use integers or fractions for any numbers in the equation.)

Type the slope-intercept form of the line.

[]

(Simplify your answer. Use integers or fractions for any numbers in the equation.)

An open box is to be constructed from a square  __ 131_
piece of sheet metal by removing a square of 3
side 3 feet from each corner and turning up the
edges. (See the figure on the right.) If the box
is to hold 192 cubic feet, what should be the
dimensions of the sheet metal?

x

What is the length of a side of the square piece of sheet metal?

D feet

Simplify. 4\ 3
20

_ 5
4 ’ (Simplify your answer. Type a fraction or mixed
5 number.)
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5. Diana has available 2800 yards of fencing and wishes to enclose a rectangular area.
(a) Express the area A of the rectangle as a function of the width W of the rectangle.
(b) For what value of W is the area largest?
(c) What is the maximum area?
(a) Express the area as a function of the width.
aw)=[]
(b) For what value of W is the area largest?
W= |:| yards (Simplify your answer.)
(c) What is the maximum area?
A= D square yards (Simplify your answer.)
6. Simplify. Select the correct choice below and, if
necessary, fill in the answer box within your
N .
V=27 choice.
AL 3
S e
("JB. The root is not a real number.
7. Evaluate the expression.

-2+ 372

-2 '+ 37 2=] ]

(Simplify your answer. Type a fraction.)
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8. Multlply (3 + 4’ 3 )2 _ |:|
5 (Simplify your answer. Type an exact answer,
B3+y3) using radicals as needed.)
9. . . i . . 7 11
Find the slope of the line containing the following two points: 1—0, —1|and| — ;, - ; .
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(DA The slope is . (Type an integer or a simplified fraction.)
(ZJB. The slope is undefined.
10. Rewrite the given equation in slope-intercept 10}
form and then graph the line. o]
6]
9x+4y—36=0 ]
4
What is the equation in slope-intercept form? 2]
|'|'|'|'|'-'|'|'|'|'|'
D 108 -6 A4 2,1 2 4 6 8 10
(Use integers or simplified fractions for any 4]
numbers in the equation.) 6
. -8_-
Use the slope and the y-intercept to graph the 7y

line.
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